[image: image7.wmf]2

cos1

2

x

yy

+=+

[image: image8.wmf]y

v

x

=

Matlab Assignment # 1
· Go through the help sheet before attempting the assignment.
· For each question, write the MATLAB commands and output in the provided box.
· Deadline to submit the assignment is May 2, 2009.  
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1. Use Matlab to solve the IVP 
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Plot the solution from 
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Answer:
Paste Plot below

2. Use MATLAB to find the general solution of 
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Answer:



3. Use MATLAB to find the general solution of  
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Answer:


End of Assignment

Commands and Output

















Commands and Output











Commands and Output











Understanding the output





To understand the output


solve the differential equation (which is separable) on paper


you should get implicit solution � EMBED Equation.DSMT4  ���


Can you se how this implicit solution is given as output of  “dsolve”.
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Understanding the output





Do you see a strange output in the form of a vector


To understand this output


solve the differential equation on paper using the substitution � EMBED Equation.DSMT4  ���


you should get the solution � EMBED Equation.DSMT4  ���


Can you now interpret the vector-form output of “dsolve”


Can you see how the analytical solution � EMBED Equation.DSMT4  ��� is stored in the output of “dsolve”
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